1) Iam allowsd to spend up to one howr wotching TV in the evening. On each of Mondoy, Wednesday and
Sotwrday, I spant 50 minutes out of my allowsd howr watching T
Which dingram and calculation correctly represents the tims T spant wotching TV each night? Exploin
Yyour reasaning.
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Z) ‘Which coleulation is the odd one owt and why?




1) AMhM:MwnModiﬁchwmddsboMthhnppmMm*hthbg*.
Explain to Archie which of his area models is correct and why.

2) A family ordered a large pizza to share. They managed to eat 4 of the pizza and saved the rest. The next day Imran
ate 4 of the leftover pizza. How much of the whole pizza did Imran eat?

Jacob and Olivia both tried to represent the problem. Who was correct? What calculation shows how much pza
Imran ate?

Imran's pizza o a
Imran’s pizza




